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EFROFES
ERKARYIFLUE | $150x5,000 ERE
ks EIERELY)
33 K
EFEE
@150 X 5,000 ERE
ks EIERELY)
7K
EFF—X(# %) ¢ 150 % ¢ 150 118
EFF—X(# %) ¢ 150 % ¢ 100 2 &
EFF—X (M 5%) $150% ¢ 75 6_1{&
EFF—X(F5%) $150% ¢ 75 2 @&
EFRVR(E ) ¢ 150% 22" 1 {&
EFRYR(H %) ¢ 150 x 45° 18
EFY7 vk ¢ 150 &
LYa—H- ¢ 150 x ¢ 100 2 @&
EFFZLYa—4Y- |¢$100X ¢75 &
PPY3AUk ® 150 x ¢ 150 (FER 1) 3 A
RS =RV IL)  |W=150mm L=50m# 5 #
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RIGEILRE - &7 — 757 HEE

AR Y ¢ 150

Fi Gl ] 72 S o= | b F f&E | v—7FE| H &
E F W = F — X|$150 X150A 0.92 1 0.92 2.55 2.55| 3HpT
n $150 X 150B 0.54 2.55 3 A
n 6150 X100 0.52 2 1. 04 2.55 5.10] 3# AT
n 6150 X T75A 0.52 6 3.12 2.55 15.30| 3#Fr
E F K = F — X ¢$150 X758 0. 66 2 1.32 2.55 5.10] 3#» P
EF A= L F 2 — + 6100 X75 0.42 1 0.42 0.85 0.85| 1#pr
E F F = X ¥ FKl¢l150 XxX90° 0.81 0.85 1
n 6150  x45° 0.62 0.85 1 AT
n ¢ 150  x22° 0.53 1 0.53 0.85 0.85| 1#AT
n 6150  Xx11° 0.49 0.85 1 T
E F M = X ¥ FKl¢150 X90° 0. 66 0.85 1 it
n 6150  x45° 0.46 1 0. 46 0.85 0.85 1#Ar
n 6150  Xx22° 0.38 0.85 1 it
n 6150  Xx11° 0.34 0.85 1 AT
E F A & S X o FK|l¢150  X450H 1.24 0.85 1 it
n ¢ 150 X 300H 1.03 0.85 L FT
AUV E B ¥ ¥ v 79150 0. 000 — — —
RVER 7V UHTTE 0150 X
E F 7 5 v ¥ 5 % ¢150 0.23 — — —
Y 7 k¥ — 1 6150 0.28 — — —
ZOf Y 7 v — v F¢l150 0. 200 — — —
AU F R T T #9150  XT5 2% Pt
R EHBEBEEZANT 7H 9150 XT75 0.20 1 0.20 1.70 1.70| 2»PrF
BOAFARY =F L84 F¢pl50 X5.0 33 3.40|  112.20| 4»Pr
] w4, a8 3G E 3. 40 45
%) %12, 4mH 2 4. AmPL T 7 2.55 17.85| 3# AT
5] 41, 6mid 2. 2. 4mPL T 2 1.70 3.40| 2P
5] #el1. 6mPA T 3 0.85 2.55| 1#4fF
E F v 5 =2 — %6150 X100 0.48 2 0. 96 0.85 1.70| 1 AF
VPH A WIKEIT 2% (0 w7 £ 9150 X — — —
8.970|m 170. 00| m
BlAKFRY =F 1L 34 7| 100 [EKE 5.0m| X 334& = 165. 000
” $ 100 4] = 0. 000
n $ 100 Z.4) 29. 710 = 29. 710
BE R 194. 710| m
HBIpE R+EE R ( 203. 68 )
| ok
BLE 203. 68 = 203.68m
Uil 203. 68 - 0. 00 = 203. 68m
FHE 203. 68 = 203. 68m
T8, 1{EHYEVEX $ 150 0.180%3. 14X 1. 5=0. 85m
% & T —7%% ¢ 150 (170. 00) ~20= 8.50 = ok
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Y/ 7 H
E F @ = F — X|$150 X150A 0.27 0.27 0.38 = 0.92
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E F f =& F — X ¢$150 X758 0.26 0. 40 0. 66




BEFHEE wsnms

at2) (HAL -

m)

Bk U ¢ 150mm  L=5.00m L=5.00m

b e M| & F %
R EE| E W |EE F | BE | SF | B T R BRI B v B o
1 2. 660 1. 490 4.150| 0.850| 2
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3 4. 160 0. 480 4.640|  0.360, 2
4 2. 850 0. 870 3.720]  1.280 2
5 4.110 4.110]  0.890 1
6 3.570 3.570) 1.430] 1
1 2. 500 2. 200 4.700|  0.300] 2
=t 22.170 7.540 0. 000 0. 000 0. 000 0.000 |29.710 | 5.290 | 12
FF R %% OB

N= 33 %S
EFELE XS o
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PE ¢ 150
RUTFLUERBET | H150mm (BEmZITLY) = 203.7 2037 m
RYUIFLUERFT |o150(FEES-20)  |(&EHY) = 11 11 B
RYUIFLUEMTFT | o 150(@EES-10) =ED)) = 37 37 O
IS MET 150 = 0 A
HRYIFLUE
AH=—HILEFT ¢ 150 (BfERBA AE) = 6 6 O
RUZFLUEYET | ¢ 150 WEHEERLY) = 15 15 0
HRYIFLUE
ANZAIILBFENT | 150 (FRERE+BRERE) = 0 A
ERRY—k = 203.68 203.7 m
B2k
EHRT—J @ 150mm sEhELY = 203.68 203.7 m
EKEERE ¢ 150mm = 203.68 2037 m
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¢ 150 X 45° 0.620 X = 0.000
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EFV vk
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EFfZF—X
¢ 150 x ¢ 150 0.920 x 1 = 0.920
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EFm&%F—X
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EFFZF—X
®150% 75 0.660 X 2 = 1.320
RIVERISVOHTEE
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RYERFYYT
P 150 (AHE!) 0.000 x = 0.000
PPYaAk
@ 150 X ¢ 150 (BfRR 1) 0.000 x 3 = 0.000
VYIRS — LY F
P 150 (AHE!) 0200 x = 0.000

SRR = 203.680 2037 m
EMRER = 203.680 2037 m
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TAT7IMAR
AsERSERR )BT T| U1 R 15cmIA T | 407.36 = 407.36 407 m
(1-1)
NYYRIIZEKD |n9)K70.13m3,Ashit
EEEHTEAT|t=10cmU T 112.02 = 112.02 112 m?
(1-1)
N'yHik0.13m3
NyIRIRET [RBLED 104.18 = 104.18 104 m°
(1-1)
BRAY
FMBEET  [n'yh#90.13m° 48,59 = 4859 49 m°
(1-1)
AH
BERAEZTL |RB-40 11.20 = 1120 11 m?
(1-1)
AH
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HSWNE  |AsHS-EEIM 560 x 2.35 = 13.16 13t
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” 6100  x45° 0.49 0. 59 1 AT
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E F @ = ~N » F¢l100 X90° 0. 50 0. 59 17 ft
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M130mm X 20m
7 7 H
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(HER L)
EZILEMET ¢ 50mm = 2.15 22 m
EZLETMT @50 = 3 3 0
TSHEFE T @50 = 7 7 0
INOFERDAHERT |50 = 1 1.0




£ b I i E A H 2
<E 1 B I
(fag&T)

PE ¢ 100
FKEECKAR)IFLYE(UWWA K 144)

RYIFLUEHRBRL |ERE(FSEE) | 5000 x 28 = 140.000
FKEECKAR)IFLYE(UWWA K 144)
ERE (EE) | 5000 x 0 = 0.000
FKEECKAR)IFLYE(UWWA K 144)
U 35.270 (LIERELY) = 35.270
EFF2ARUF
¢ 100 X 90° 0610 X = 0.000
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(&1) 10.38 |m
156 | NO5 + 41.81 ~ NO5 ~ NOS5 ~ NOS5 + 43.72 1.91 [m
156 | NO5 + 41.81 ~ NO5 ~ NOS5 ~ NOS5 + 43.72 1.91 [m
0.90 | NO5 + 40.72 ~ NO5 ~ NO5 ~ NOS5 + 41.81 1.09 |m
(3) BTEEE
AsEpst
25 156 | NO5 + 4372 ~ NO5~ NOS5~ NO.S5 + 4460 0.88 |m
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E F i &% F — X ¢$150 XT75 0. 40 8 3.20 — — —

n & 75 X 754 0.35 1.26 3 A

” 75 X 758 0.08 1.26 3H P

n 6100  X75C 0.30 3 0.90 — — —

” 75 X 50A 0.35 1.26 3H P

n 675 X 508 0.08 1.26 3 A
EF HF=Z L F =2 — H¢75 X 50 0.34 0.42 15 BT
E F /£ = X v FKl¢T75 X 90° 0.54 0.42 1% P

” & 75 X 45° 0.48 0.42 1 AT

n ¢ 75 X 22° 0.38 0.42 1% P
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] 41, 6mid 2. 2. 4mPL T 3 0.84 2.52| 2P
] #el1. 6mPA T 5 0.42 2.10| 1#»Pr
VP T A W kBT 74 (7 ) 6 75 X175 0.32 — —  —

6.710|m 93. 24|m

BlAKARY =F LA 775 K3 5.0m| X 434K = 215. 000

n ¢ 75 ) = 0. 000

” & 75 Z.4) 47. 940 = 47. 940

B Rt 262. 940| m
RIEER+EER ( 269. 65
] ok
LR 269. 65 = 269.65m
Vi 269. 65 - 0.57 = 269. 08m
& 269. 65 = 269.65m
T8, 1{ETEYES ¢ 75 0.090 X 3. 14X 1. 5=0. 42m
k& —7%E 75 (93.24) +20= 4. 66 = 5
M130mm X 20m
7 7 H

E F i &% F — X|¢75 X T5A 0.04 0.04 0.27 0.35

n b 75 X 75B 0.04 0. 04 = 0.08

n 6100 X 75C 0. 30 = 0.30

n b 75 X 504 0.04 0. 04 0. 27 = 0.35

” 75 X 508 0.04 0.04 = 0. 08




P F A E g nmg i) G5 m)

Bk U ¢ 75mm  L=5.00m L=5.00m
o b oMk E

e EE| < E EE S W ER S B EE T BEER S B EE T B W
1 3. 800 1. 060 4.860]  0.140
2 1. 600 2. 720 4.320]  0.680
3 3. 600 1. 200 4.800]  0.200
4 2. 400 2. 430 4.830| 0.170
5 2. 860 1. 620 4.480|  0.520
6 3.770 0. 630 4.400]  0.600
1 3.730 3.730]  1.270
8 2. 400 1. 500 3.900|  1.100
9 3. 740 1. 100 4.840|  0.160
10 3. 980 3.980| 1.020
11 3. 800 3.800] 1.200
=t 35. 680 12. 260 0. 000 0. 000 0. 000 0.000 |47.940 | 17.060

FF R %% OB

N= 42 N

=lh 19 I + on = 290




£ b e 4K <t i i E A H 2
(BRI -#FIT-E9H
PE ¢ 75
RUZFLUERERT | ¢ 75mm (BEHHRILY) = 269.1 269.1 m
RUTFL ERFT | o75(REEA-20) UERED) = 18 18 AT
RY)IFLUEHRET |o75(FEEiES-10) =ED)) = 42 42 0O
HRYIFLUE
AH=—HILEFT ¢ 75 (BfERRBAIE) = 26 26 O
RUIFLUELIMT | @75 WEHEEREIY) = 29 29 0O
HRYIFLUE
AHHIBFRNT |H75 (FTERE + BRRE) = 0 0
HOHBET }75 = 3 3 &
FEZET = 3 3_MERT
ERRY—k = 269.65 269.7 m
B2k
EHRT—J @ 75mm EDRELY = 269.65 269.7 m
WIKERERE ¢ 75mm = 269.65 269.7 m




£ b I i E A H 2
<E 1 B I
(fag&T)

PE ¢ 75
JKEEKARYIFLUEUWWA K 144)

RYIFLUEHRBRL |ERE(FSEE) | 5000 x 42 = 210.000
JKEEK AR YIFLUEUWWA K 144)
ERE(EE) 5000 X 1 = 5.000
JKEEK AR YIFLUEUWWA K 144)
U 47.940 (ERFELY) = 47.940
EFRZARUK
@ 75 % 90° 0.540 = 0.000
EFR AR
@ 75 X 45° 0.480 = 0.000
EFR AR
b75%22"% 0.380 = 0.000
EFRZARUK
b75% 1174 0.360 = 0.000
EFmZANUF
b75x45 0.380 4 = 1.520
EFmZANUR
b75%22"% 0.280 = 0.000
EFmZANUF
b75% 1174 0.260 2 = 0.520
EF SARUK
@ 75 X 450H 1.110 = 0.000
EF752 Y
®75 0.160 = 0.000
EFm&%F—X
®150% P75 0.400 8 = 3.200
EFfZF—X
®100% 75 0.300 3 = 0.900
EFfZF—X
@75% P75 0.350 = 0.000
RIVERISVOHTEE
@75 ¢ 75(AHE) 0.190 = 0.000 |5 E==
RYERFYYT
@ 75(AHE) 0.000 = 0.000
PPYaAk
@75 % ¢ 75 (BfERLAT) 0.000 10 = 0.000
VYIRS — LY F
@ 75(AHE) 0.190 3 = 0.570

SRR = 269.650 269.7 m
EMRER = 269.080 2691 m




£ b 2 K <t & i E R H =
<t 1>
(3-1)
TAT7IMAR
AsERSERR )BT T| U1 W& 15cmA T | 539.30 = 53930 | 539 m
(3-1)
WYIRIIZED |Vy)ikT0.13m3,Ashi
EEEHTEAT|t=10cmU T 148.31 = 148.31 148 m?
(3-1)
N'yHik0.13m3
NyIRIRET [RBLED 124.58 = 12458 125 m®
(3-1)
BRAY
FMBEET  [n'yh#90.13m° 56.12 = 56.12 56 m°
(3-1)
AA
BERAEZTL |RB-40 14.83 = 1483 15 m?
(3-1)
AA
TEBBETL [RC-40 t=20cm 148.31 = 14831 148 m2)
(3-1)
AA
FEBHRIEET  [M-30 t=15cm 148.31 = 14831 148 m2)
(3-1)
BRIAMET 12458 = 12458 125 m°
(3-1)
BRIAMET 12458 = 12458 125 m°
(3-1)
N'y9170.13m3,AsER
P 277 VB LT 2tFE(R),0.0kmEATR | 7.42 = 742 7m
(3-1)
NYhi§H0.13m3,AsHR
7 277V SEHRALIE] 10tHE(R),0.0kmEL TR | 7.42 = 742 7 m’
7544 (3-1)
BAEFHAs
REIBLT  |t=5cm 148.31 = 148.31 148 m?2
HSWNE  |AsHS-EEIM 742 x 235 = 1744 17t




X178V EE 50m TIEREEE
+ T B & DP pi(l =] E R |fg &
(EIEZER)
()thEEE PE ¢ 75
AsEiiE
25 0.80 6.19 + 586 + 2898 + 420 + 7.00

+ 400 + 780 + 10079 + 6.60
+ 780 + 9043 (&1) 269.65 |m




TITHEE

T T
(OhEEE
&% PE R Rl [MzEIR]
EE o 15 0.55
ENE o 9
T THEE 269.650 m !
PEHEIE 0.550 m !
T#Y 0800 m 12 SR Y ERL 3
HiEE m o : - =
EEE 0300 m | LB S
AstT B 2 &% I M-30
i
. | B S
WHHER] | RC-40 S
2 | o | ERRRAE o o
°l | I I RB-40 o, 2
© o ! o
i
|
|
i S
| X
| o
|
|
|
Q
i
|
£ R it =1 =% w2
S IR LI BR 200 X 269.650 539.30 m
AsEhEE I = 0550 X 269.650 148.31 m
B W 1R Al 0550 X 0.840 X 269.650 12458 m
BAIEEAERERM) | ( 0550 X 0.390 — /4 x 0.090 2) x 269.650 56.12 m
12 R (RB-40) 0550 X 0.100 X 269.650 14.83 m
TRER#ET(RC40) | 0.550 X 269.650 14831 m
LFEEAET(M-30)| 0550 X 269.650 14831 m
Rty (£8) 12458 — x 1.11 12458 m
EI 05 (AstR) 148.31 X 0.050 742 m
SHEREIHAs)=5cm| 0.550 X 269.650 14831 m




£ b e 4K <t i i ' K =
(# #b
SEAEE
mEEN
RYBRAZZVCHATEE | 9150% ¢ 75(AHE) 1_{&
S F A
MR BOEAIE | H65mm -3
A E A
R REH ____[$75x 150H 1_H
HNEFHSE ¢ 600mm 1
BLALYYRyS X  |DP=800H 1 #A
K
TIVUOMETH ¢ 75mm (RF) 1 #A
K
TIVOMETH ¢ 75mm (GF) 148




£ £ 4K <t & FE R =2
(BT - F T - E R
CHAREET)
thTFRXEO
EARRET ¢ 85mm 2
BERET ¢ 600mm 1
HARESRET DP=800F 4R
RUZFLUE
AN HILEFET ¢ 150 (Bt R A AE) 2 0O
LKk
ISV DMFET ¢ 75mm ]




£ b B4R ~F i it E K -
#1 #)
ke
(PEA)
BRIV KA ¢ 100 X 20 9 9 #iff
(PEA)
HRIL ke @75 %20 10 10 @ik
(77K R)
| fRiER SORERRBALEHATE | 20 19 19 18
(1E7k+2H)
| fERfE R SORERR L LM | ¢ 20 34 34 (&
(HI-VP)
MEEEEEIREE=LE| P20 70.5 705 m
(=)o 8Y)
1k KAE 20 17 17 1@
(RS
1FKIgE @ 100 X 450 17 17 1@
HI- 4k ¢ 20 2 2 @&
HI-T)LAR @ 20 x 90° 36 36 {&
HI-FZELV\WAryk $20x13 13 13 @
HI: vy 7 $20 4 4




% b B4R <t ik i E R =
(BRI -#FIT-E9H
ke
)
HRILAKEERETL | $100x ¢20 (EmE&£Y) = 9 9 _HPT
)
HEILAKIEERETL _ _[$75% ¢20 (H@ELY) = 10 10_ BT
1+t
EZILEMEZT 20 (RmE&Y) = 70.5 705 m
TSES (MEFRAELY)
EZLEMEZT b 20 19+34+2%2 [0+36%2[+13+4 = 146 146 O
TSES
E-ILERET ¢13 (MERAELY) = 13 13 0O
(BE-1EKERERMTED)
1EKiEERET ®20 (MHEAEEY) = 17 17 &
EZILEYMT ¢ 20 (MEERAELY) (FE&E+EERE) = 72 72 0O
E-ILEYMT 013 (BRERE) = 13 13 0O




£ b 4K T & i E R O
<t 1>
(4-1) (4-2) (4-3) (4-4)
T A7 KR
AsEREERR M T YIMTE15cmiA T 10440 + 0.00 0.00 0.00 = 10440 | 1040 m
(4-1) (4-2) (4-3) (4-4)
IR
CofZE AR U BT T{ LN R 10cm L R 000 + 0.00 7.00 0.00 = 700 70 m
N'yHK70.13m3 (4-1) (4-2) (4-3) (4-4)
NyhikyZ&kB |AshR
EEEHTEAT|t=10cmU T 28.71 + 0.00 0.00 0.00 = 2871 290 m?
N'yHK70.13m3 (4-1) (4-2) (4-3) (4-4)
NYIEIIZED |Cobk
EEEHTEAT|t=10cmU T 000 + 0.00 1.93 0.00 = 193 20 m’
(4-1) (4-2) (4-3) (4-4)
N'yHik0.13m3
Ny R REL |[RBLED 22.28 + 0.00 0.72 1.10 = 2410 240 m®
(4-1) (4-2) (4-3) (4-4)
EBERAD
HBIEET  [nys#90.13m’ 9.33 + 000 0.00 0.00 = 933 90 m®
(4-1) (4-2) (4-3) (4-4)
£+
HET NyhE90.13m° 000 + 0.00 0.43 1.10 = 153 20 m®
(4-1) (4-2) (4-3) (4-4)
AA
BEEABI |RB-40 287 + 000 0.00 0.00 = 287 30 m®
(4-1) (4-2) (4-3) (4-4)
AA
TEBEET [RC-40 t=20cm 2871 + 000 0.00 0.00 = 2871 290 m?2
(4-1) (4-2) (4-3) (4-4)
AA
LEIET  [M-30 t=15cm 2871 + 000 0.00 0.00 = 2871 290 m?2
(4-1) (4-2) (4-3) (4-4)
AA
BT RC-40 t=15cm 000 + 000 1.93 0.00 = 193 2.0 m?2
(4-1) (4-2) (4-3) (4-4)
REE
BHIMET | 2038(B),00kmLL T | 22.28 + 0.00 0.24 0.00 = 2252 230 m®
(4-1) (4-2) (4-3) (4-4)
BT | 10t55(BR),00kmEL | 22.28 + 0.00 0.24 0.00 = 2252 230 m®
Nyhihr0.13m3 (4-1) (4-2) (4-3) (4-4)
Asi%
F A7 IVHERR LIS 2tFR(R),00kmEL T | 144 + 0.00 0.00 0.00 = 144 10 m’
Nyhihr0.13m3 (4-1) (4-2) (4-3) (4-4)
Coik
Y)Y — MBI 2tF8(R),0.0kmEL T [ 000+ 0.00 0.19 0.00 = 019 02 m®
N99§70.13m3 (4-1) (4-2) (4-3) (4-4)
Asi%
P 277 MEHEALEE 10t7E(B).0.0kmELTR| 144+ 000 0.00 0.00 = 144 10 m®
N99§70.13m3 (4-1) (4-2) (4-3) (4-4)
Coik
7! - MESRALER 10tHE(E).0.0kmELR| 000+ 000 0.19 0.00 = 019 02 m’
7744 (4-1) (4-2) (4-3) (4-4)
BEEHAs
REIBL  [t=5cm 28.71 + 0.00 0.00 0.00 = 2871 29.0 m?2
avy-t (4-1) (4-2) (4-3) (4-4)
F18-8-25BB
#HIBT t=10cm 000 + 000 1.93 0.00 = 193 2.0 m?2
HIWRE  |AsHS-{EHIH 144 X 2.35 = 338 30 t
AW E [CoHS-ER 019 X 2.35 = 045 05 t




X178V EE 50m TIEREE
+ T B & DP pi(] =] E R |fg &
(TITEE)
() EEE HBKE
AsEiiE
2% 0.80 | 52.20 + 52.20
(&1) 52.20 |m
Cofiat
2% 0.80
(&1) m
(2)E£NCo HBKE
CofiE
VES 045 | 3.50 + 3.50
(&1) 350 [m
@ENHFEEL| #HBKE
FET
045 | 420 + 420
(&1) 420 |m




TITHEE

T T
(OhEEE
EFE  #AK R Rl [MzEIR]
EF ¢ 20 0.55
ENE O 26
T T3 ER 52200 m ,
PEHEIE 0.550 m !
T#Y 0800 m 12 SR Y ERL 3
HiEE m o : - =
&FE 0300 m =3 S
AstT B 2 &% I M-30
| TERES S
WHHER] | RC-40 S
o i
8l o o Y IN o o
° 9 R I RB-40 s &
o o i o
i
|
i 9
| i
|
!
Q
|
£ R it =1 =X H =
&R 25 MR U I 200 X 52200 104.40 m
AsEhEE I = 0550 X 52.200 28.71 m
B W 1R Al 0550 x 0.776 X 52.200 2228 m
BB EAEREM) | ( 0550 X 0.326 — /4 x 0.026 2) x 52.200 9.33 m
12 R (RB-40) 0550 X 0.100 X 52.200 287 m
TEERAET(RC40) [ 0550 X 52.200 2871 m
FERAET(M-30)| 0550 X 52.200 28.71 m
Rty (£8) 2228 — X 1.11 2228 m
KLy (Asti) 28.71 x 0.050 144 m
S REIRAs)=5em| 0550 X 52.200 2871 m




TIEHEE

(2)53ECo
EfE  HKE
EF ¢ 20
EHNE ¢ 26
TIEE
fEEIE 0.550
T#Y 0800
HEE
EEE 0300
Cotllih 2 &

[E:Z R
0.55

MriEIR]

33333

0.800

0.826

0.10

0.726

ﬁ§WUﬁq

RAET
RC-40

0.15

IR

O

2R AR

0.576

0.10

0.826

2T

h=1111]
—+

3

]

Cofi % hiz ] it

2.00

Coffi% hi =

0.550

H R H

0.550

0.726 X

HAIE RAERRD)

( 0.550

0576 — /4 x 0.026 2) x

PR A% T (RC40)

0.550

BINS (LF)

X 1.11

RIS (Cotih)

0.100

£HaE 18 IH(Co)t=10cm

0.550




TITHEE

T T
(3)EMCo
EiE  HBKE Mg 5J [MzEIR]
EF ¢ 20 0.55
ENE O 26
TTERE 3500 m ,
fEHEITE 0550 m !
T#Y 0450 m =) SRRV IEL e
HiEE m =) : - ©
ELE 0.300 m : RAET S
Cotll i 2 &% I RC-40
MRS
o i
°l S S | FHET >
o o : 8 o
3
Q
£ R it =1 =X # =
CofiiE iRt 200 % 3500 700 m
CoffiZE i 0550 X 3.500 1.93 m
B W 1R Al 0550 X 0.376 x 3.500 0.72 m
BmEREET) | (0550 x 0226 — /4 x 0026 2) x 3500 043 m
P& & T (RC40) 0550 X 3.500 1.93 m
Rty (£8) 072 — 043 x 1.11 024 m
I 45 (Cotil) 193 x 0.100 019 m
£ 45 |H(Co)t=10cm 0550 X 3.500 1.93 m




TITHEE

T T
DHEARFELEL
EfE  HBKE MR &= [Mx#&I18J
BF ¢ 20 0.55
EHNE ¢ 26
T TEE 4200 m .
fEHITE 0550 m !
T#HY 0450 m i
HEE m :
ELE 0300 m |
BRARH)
° % | mEd
Q
£ 5 Hi =} = B =
B W 1R Al 0550 X 0476 X 4.200 110 m°
BWIEREGET) | (0550 x 0476 — /4% 0026 %) X 4200 110 m®




% b B4R ~F i it E K =
#1 #)
K EEMIE
(PEA)
BRIV KA @ 150 X 20 8 8 (AR
(PEA)
BRIV K ¢ 100 X 20 18 18 @ik
(PEA)
HRILy ke @75 %20 52 52 @i
(5K A)
| fERfE R SORERR L LM | ¢ 20 78 78 {&
(1kskt2 )
| AEIEET S SRERE AL | @20 156 156_1&
(HI-VP)
MEEEEEELE=ILE] 20 2425 2425 m
(U= &)
1EJK 3% 20 78 78 {&
(RS
1FKiEEE ¢ 100 x 450 78 78 &
HI= vk b 20 8 8 &
HI-T)LAR $ 20 % 90° 156 156 @&
HI-F %y 20 78 78 {&




£ b B4R <t ik i E R H 2
(BRI -#FIT-E9H
K EEMIE
)
HRILAKEERETL | $150x ¢20 (EmE&£Y) 8 8 FEAT
)
HELDKIERET [$100% ¢20 (HmE&Y) 18 18_ PR |
)
HRILAKEERETL | 975X ¢20 (EmE&£Y) 52 52 FEFR |
et
E-ILERET 20 (RmE&Y) 2425 2425 m
TSHES (MEFRAELY)
EZLEMEZT ¢ 20 78+156+156%2[0+8x2[1+78 640 640 O
(BE-1EKERERMTED)
IEK#EERET ®20 (MHEAEEY) 78 78 E |
E-ILEYMT ¢ 20 (MEFEXY) 312 312 O




£ b 2 K <t & i E R H =
<t 1>
(5-1) (5-2) (5-3) (5-4)
T A7 KR
AsSHEE R U1 T NBTR20cm LT [ 325.60 + 0.00 0.00 0.00 = 32560 | 326 m
(5-1) (5-2) (5-3) (5-4)
IR
CoffZE kR 1T T| BT 10cm L T 0.00 19.00 0.00 0.00 = 19.00 19 m
N'yHK70.13m3 (5-1) (5-2) (5-3) (5-4)
NyhikyZ&kB |AshR
EERHIFEATL=10em T 89.54 0.00 0.00 0.00 = 8954 90 m?
N'yHK70.13m3 (5-1) (5-2) (5-3) (5-4)
Nyhiky2&kB |Cokt
EEEHTEAT|t=10cmU T 0.00 5.23 0.00 0.00 = 523 5 m’
(5-1) (5-2) (5-3) (5-4)
N'yHik0.13m3
NIRRT |REHLED 69.48 3.79 0.00 9.95 =  83.22 83 m°
(5-1) (5-2) (5-3) (5-4)
EBERAD
MBEET  [nyhH90.13m° 29.10 3.00 0.00 0.00 = 3210 32 m’
(5-1) (5-2) (5-3) (5-4)
£+
BRI NyhE90.13m° 0.00 0.00 0.00 9.93 = 993 10 m°
(5-1) (5-2) (5-3) (5-4)
AA
BEEABI |RB-40 8.95 0.00 0.00 0.00 = 895 9 m’
(5-1) (5-2) (5-3) (5-4)
AA
TEBBET [RC-40 t=20cm 89.54 0.00 0.00 0.00 = 8954 90 m2
(5-1) (5-2) (5-3) (5-4)
AA
LEIET  [M-30 t=15cm 89.54 0.00 0.00 0.00 = 8954 90 m?2
(5-1) (5-2) (5-3) (5-4)
AA
BRART RC-40 t=15cm 0.00 5.23 0.00 0.00 = 523 5 m2
(5-1) (5-2) (5-3) (5-4)
HAmET 69.48 0.46 0.00 0.00 = 69.94 70 m°
Nyhihr0.13m3 (5-1) (5-2) (5-3) (5-4)
Asi%
P 277 MERALE 2t78(R)0.0kmELT | 448 0.00 0.00 0.00 = 448 4 m’
Nyhihr0.13m3 (5-1) (5-2) (5-3) (5-4)
Coik
YY) —MEWALEE 2t58(R),0.0kmEL T | 0.00 0.52 0.00 0.00 = 052 05 m®
Nyhihr0.13m3 (5-1) (5-2) (5-3) (5-4)
Asi%
P 277V HMEHEALEE 10tF5(R),0.0kmEL TR | 4.48 0.00 0.00 0.00 = 448 4 mt
N99§70.13m3 (5-1) (5-2) (5-3) (5-4)
Coik
o9 —ME 02 10tF5(R),0.0km LT[ 0.00 0.52 0.00 0.00 = 052 05 m®
7744 (5-1) (5-2) (5-3) (5-4)
BEEHAs
REIAL  |t=5cm 89.54 0.00 0.00 0.00 = 8954 90 m?2
avy-t (5-1) (5-2) (5-3) (5-4)
F18-8-25BB
FIeT t=10cm 0.00 5.23 0.00 0.00 = 523 5 m2
HIWRE  |AsHS-{RHIH 4.48 2.35 = 1053 11t
HIWNE  |CohiT- &R 0.52 2.35 = 122 1t




X178V EE 50m TIEREE
+ T B & DP pi(] =] E R |fg &
(TITEE)
() EEE HBKE
AsEiiE
2% 0.80 |162.80 + 162.80
(&1) 162.80 [m
Cofiat
2% 080 | 9.50 9.50
(&1) 950 |m
(2)E£NCo HBKE
CofiE
2% 0.45 +
(&1) m
@ENHFEEL| #HBKE
FET
0.45 |38.00 + 38.00
(&1) 38.00 |m




TITHEE

T T
(OhEEE
EFE  #AK R Rl [MzEIR]
EF ¢ 20 0.55
ENE O 26
T TIER 162.800 m !
PEHEIE 0.550 m !
T#Y 0800 m 12 SR Y ERL 3
HiEE m o : - =
&FE 0300 m =3 S
AstT B 2 % I M-30
| TERES S
WHHER] | RC-40 S
8l | o Y IN o o
°l § K I RB-40 s &
o o i o
i
|
i 9
| i
!
|
Q
|
£ 5 it =1 =% w2
S IR LI BR 200 X 162.800 325.60 m
AsEhEE I = 0550 X 162.800 89.54 m
B 4R Bl 0550 X 0.776 X 162.800 69.48 m
BmERGERER) | (0550 x 0326 — /4 x 0026 2) x 162.800 2910 m
12 R (RB-40) 0550 X 0.100 X 162.800 8.95 m
TREE#ET(RC40)| 0.550 X 162.800 8954 m
LEEEBETM-30)[ 0550 X% 162.800 8954 m
Rty (£8) 69.48 — X 1.11 69.48 m
KLy (Asti) 89.54 x 0.050 448 m
iR 1H(As)t=5cm|  0.550 X 162.800 8954 m




TITHEE

T T
(2)453ECo
EiE  HBKE R Rl [MzEIR]
EF ¢ 20 0.55
ENE O 26
TIHERE 9500 m ,
fEHEITE 0550 m !
T#%Y 0800 m o SEERYEL S
HiEE m =) : - ©
ELE 0.300 m : RAET S
Cotll i 2 &% I RC-40
MRS
S
°l 8 B | BRAR S
o o i CIE o
3
Q
£ 1 it =1 = # =
CofiiE iRt 200 x 9.500 19.00 m
CoffiZE i 0550 X 9.500 523 m
B W 1R Al 0550 x 0726 X 9500 379 m
BmERGERERM) | (0550 x 0576 — /4 x 0026 2) x 9500 3.00 m
P& & T (RC40) 0550 X 9.500 523 m
Rty (£8) 379 — 300 X 1.11 0.46 m
I 45 (Cotil) 523 X 0.100 052 m
£ 45 |H(Co)t=10cm 0550 X 9.500 523 m




TIEHEE

(3)EMNCo
EiE HKE
E® ¢ 20
EHNE ¢ 26
TIEE
fEEIE 0.550
T#Y 0450
HEE
EEE 0300
Cotllih 2 &

[E:Z R
0.55

MriEIR]

33333

0.450

0.476

0.10

ﬁ§WUﬁq

0.376

RAET
RC-40

0.15

IR
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